e FORLIN: 8

SS1 Nukata Forest short1 = 9.36KM
STAGE CLASSIFICATION OVERALL CLASSIFICATION
DRIVER/CO DRIVER STAGE [ CLS DRIVER/CO DRIVER OVERALL|[ CLS
POS| NO.[CAR CLS| TIME |POS| DIFF ||POS|[NO.|CAR CLS| TIME |POS| DIFF
1| 1 [MHE &EE/ KM BN R-1| 6:58.3| 1 1| 1 |8 &EE/ AR BN R-1 6:58.3| 1
r2 YR %2 YR
2 | 6 [#r K¥E/ /DR AE R-1| 7:01.7] 2 34| 2 | 6 [#FH KiE/ /MR 8 R-1 7.01.7| 2 3.4
R/\)L VAB R/\)L VAB
3 | 4 AR X#E/EB HSH R-1| 7:07.1| 3 88|| 3 | 4 [WMER /A HH R-1 7:07.1| 3 8.8
k=4 YR (5.4) r4%2 YR (5.4)
4 | 5 [ER &/ Rk #8— R-1[ 7:11.4| 4 13.1|[ 4 | 5 [ER &/ 2k #8— R-1 7:11.4] 4 13.1
k3% FUR (4.3) FE% YUR (4.3)
5 | 16 [Heikki Kovalainen/3tJI #%& R-2| 7:11.7| 1 13.4]| 5 | 16 |Heikki Kovalainen/dt)1l #$2 R-2 7117 1 13.4
3% 86CS-R3 (0.3) 3% 86CS-R3 0.3)
6 | 2 |8k B/BH XBF R-1| 7:120[ 5 137|| 6 | 2 |#&k &/ER XRBF R-1 7:120| 5 13.7
SKODA 77E7 (0.3) SKODA J7E7 0.3)
7 | 3 |EBE/RHFBER R-1| 7:204| 6 21| 7 | 3 [#E BE/RHF BR R-1 7:204| 6 22.1
SKODA 77E7 (8.4) SKODA 77E7 (8.4)
8 | 28 [=#k ZEdh/A M #8— R-1| 7:26.3] 7 28.0|| 8 | 28 |[=#% ZE¥/AMA #B— R-1 7:26.3| 7 28.0
Z7\)L VAB (5.9) X7\l VAB (5.9)
9 |27 [/NE E&R/MMB ER R-1| 7:40.8| 8 425|| 9 | 27 [/NE BH/ MNP B3R R-1 7:408| 8 425
=R (14.5) EERPRS (14.5)
10 | 8 [JEH {E/:A78 MLk R-1| 7:42.8] 9 445| 10 | 8 |¥EM {E/:A178 REME R-1 7:428| 9 445
IYEY TRX (2.0) IYEY TRX (2.0)
11 | 21 [KE B/2H $7 R-3[ 7:44.7] 1 46.4|| 11 | 21 (K2 B&/2H #i7 R-3[ 7:447| 1 46.4
% YR (1.9) k% vYR (1.9)
12 | 17 |@)l] EXEB/BEH =F R-2| 7:483| 2 50.0|( 12 | 17 [f&)Il EAER/BEH EF R-2| 7:483| 2 50.0
ZZF RAT (3.6) AXF 24T+ 3.6)
13 | 11 /MR B&E/FK B— R-1] 7:51.1] 10 52.8[[ 13 | 11 [/MR BE/5EK BB— R-1 7:51.1] 10 52.8
% YR (2.8) k% vYR (2.8)
14 | 10 [IB# EZ/MTTF £F R-1[ 7:52.1[ 11 53.8|| 14 | 10 |14 2 /M £F R-1 7:52.1] 11 53.8
r34 C-HR 1.0) ~34 C-HR 1.0
15 | 32 [ R HE/FE B8R R-2| 7:52.2| 3 53.9|| 15 | 32 |RIfF H&/FH 8 R-2| 7:52.2| 3 53.9
3% 86 (0.1) ~3% 86 (0.1)
16 | 20 (KRB B2/H# L Wit R-3[ 7:54.1| 2 55.8|( 16 | 20 | X% &2/ L Wi F R-3| 7:541| 2 55.8
rEE JavY 1.9) =ERyEe) (1.9)
17 | 19 |EiR R/ Ka BE R-2| 7:54.5| 4 56.2|[ 17 | 19 [EIR X&E/KfE BHE R-2| 7:545( 4 56.2
k3% 86CS-R3 (0.4) 3% 86CS-R3 0.4)
18 | 7 WA 1&EK/IIAH FIF R-1{ 7:54.7] 12 56.4|| 18 | 7 [IUAR &EX/ZAFH MF R-1 7:54.7| 12 56.4
% YR (0.2) =R P8 (0.2)
19 | 12 #1388 K/#B8K £EH R-1| 8:01.3| 13 | 1:03.0|| 19 | 12 [#i# K/#BAX £EH R-1 8:01.3| 13 1:03.0
% YR (6.6) % vYR (6.6)
20 | 18 |7RRk JERS/ 3t EM R-2| 8:02.4| 5 | 1:04.1|[ 20 | 18 ARk /&E&/F3 EH R-2| 8024 5 1:04.1
AXE RLT+ (1.1) RAXF AT+ (1.1)
21 | 9 |§H B/MR %E R-1| 806.2| 14 | 1:079|[ 21 | 9 (&3 B/ #F R-1 8:06.2| 14 1:07.9
IYEY TRX (3.8) IYEY THRX (3.8)
22 | 29 |HhF E—/KE EX R-1| 8:07.0( 15 | 1:08.7|| 22 [ 29 [F# H—/KX BEX R-1 8:07.0| 15 1:08.7
~34 4 YGRMN 0.8) 3% 7J 1Y GRMN 0.8)
23 | 23 |FEK FIX/ILK BE R-3| 8:07.1] 3 | 1:08.8|| 23 | 23 [;&EK Fk/ILA EX R-3| 8071 3 1:08.8
%2 YYR (0.1) k% v)R (0.1)
24 | 30 |[#EA K BT/ E BE R-1| 8:16.6[ 16 | 1:18.3|| 24 | 30 |[#E4< K FRfT/HE &E R-1 8:16.6| 16 1:18.3
ka4 FUR (9.5) k3% ¥R (9.5)
25 | 38 [#iF FE/Flavien Vidal c-1| 8:26.7| 1 1:28.4|[ 25 | 38 [#43+ FNE /Flavien Vidal c-1 8:26.7| 1 1:28.4
TILI7RAAAE 1750GTV (10.1) FILI7RAAAE 1750GTV (10.1)
26 | 31 |7riE £/1LE B R-1| 8:28.2| 17 | 1:29.9|| 26 | 31 |#rf& =/ILE Butst R-1 8:28.2| 17 1:29.9
THILVIRT—45 KA (1.5) THIVIRT—H KA (1.5)
27 | 13 |BHUR B—/FH 22— R-1| 8:36.0( 18 | 1:37.7|| 27 | 13 |BHMR R—/RH Z— R-1 8:36.0| 18 1:37.7
=L R (7.8) % vYR (7.8)
28 | 25 |HHE MF/EH =£A R-3| 8:383| 4 | 1:400( 28 [ 25 [HH XM%/&H =4 R-3| 8:383| 4 1:40.0
=ERr RS (2.3) =LA e) (2.3)
29 | 14 |HE RE/ B BE R-1| 8:41.0] 19 | 1:42.7|| 29 | 14 [WLt RE/ B BE R-1 8:41.0| 19 1:42.7
Z/%)L VAB @7 Z/83)L VAB 2.7
30 [ 39 |RBB/RBETF Cc-1| 8417 2 | 1:434|[ 30 [ 39 [R& B/RB EF c-1 8:41.7| 2 1:43.4
O—/\— 2=H—/3— 0.7) A—/\— S=9)—/\— 0.7)
31 | 41 |H# 2—/81)1 ik Cc-1| 8420| 3 | 1:43.7|| 31 | 41 |&# 2—/FiIl Ed c-1 8:420| 3 1:43.7
Y NAA Lk (0.3) =y NAF Lk (0.3)
32 | 22 |BRE f2—/mHE EX R-3| 8555 5 | 1:57.2| 32 [ 22 (BE &£—/ME EX R-3| 8555 5 1:57.2
TV T4 (13.5) TV T4IY (13.5)
33 | 26 |#ER Tth/FREF A R-3| 856.6] 6 | 1:58.3|| 33 | 26 |#HIR Fth/FEF 7 R-3| 8:56.6] 6 1:58.3
HA\Y ary 1.1) HA\y ary a.1)
=33 37 [lLO HH/1EE —% C-1| 8:56.6| 4 | 1:58.3||=33| 37 |IUO ###&/ILHE —X c-1 8:56.6| 4 1:58.3
F¥a— 106 (1.1) FT3— 106 (1.1)
35 | 35 [R1E BE/KIL IBEF R-3| 9:01.8) 7 | 2:035| 35 | 35 [RIE BE/ KWL IEF R-3[ 9:.018] 7 2:03.5
r2Z Ty (5.2) =Ry P e (5.2)
36 | 43 |EZ R Fah/ KR EE C-1| 9:06.7| 5 | 2:08.4|| 36 | 43 |EZR Fah/ KR ¥E C-1 9:06.7| 5 2:08.4
FE5 NAT—R (4.9) 2 NAT—R (4.9)
=36 | 44 [RE RE/HS b1 C-1| 9:06.7| =5 | 2:08.4|[ =36 | 44 |[#RE HE/HE 11 c-1 9:06.7| =5 | 2:08.4
2 NI —R (4.9) k2 NAIT—R (4.9
=36 | 45 |#EE B=/F)I F4t C-2| 9:06.7| 1 | 2:08.4|[ =36 | 45 |k &=/F )1l M c-2| 9:06.7| 1 2:08.4
RIL Sz 930 (4.9) RJL &z 930 (4.9)
=36 | 46 [#ME HE/H BE C-2| 9:06.7| =1 | 2:08.4|[ =36 | 46 |B&H KE/B BE c-2| 9:06.7| =1 2:08.4
FILIFAAF 2T (4.9) FILIFAALF DayT (4.9)
=36 | 47 (MR B/ Tl & Cc-2| 9:06.7| =1 | 2:08.4|[ =36 | 47 [#HR &E/II ;& c-2| 9:06.7| =1 2:08.4
J+—K TX3—h (4.9) 74—k TRa—+ (4.9
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e FORLIN: 8

SS1 Nukata Forest short1 = 9.36KM
STAGE CLASSIFICATION OVERALL CLASSIFICATION
DRIVER/CO DRIVER STAGE [ CLS DRIVER/CO DRIVER OVERALL] CLS
POS|[NO.[CAR CLS| TIME |POS| DIFF_[|POS|NO.|CAR CLS| TIME [POS| DIFF
=36 | 50 [LL7& BA/MaiE FT C-2| 9:06.7| =1 | 2:08.4([ =36 | 50 [WLi#& BA/fiE F14T c-2| 9:06.7| =1 2:08.4
VW-7R)L x 914/6 (4.9) VW-7R)Lx 914/6 (4.9)
=36 | 51 [ Eth/ZLLE =5 Cc-2| 9:.06.7| =1 | 2:08.4|| =36 51 [{§ Eth/ZLLE —=5 Cc-2| 9:06.7| =1 2:08.4
Rz 9 (4.9) Rz ot (4.9)
=36 | 52 [Fdb £/ iEER bt C-2| 9:06.7| =1 | 2:08.4| =36 | 52 |Fit E/IEED shtst c-2| 9:06.7| =1 2:08.4
Roz9ihaLs (4.9) Rz 911ALS (4.9)
=36 | 53 [AHE &/t RN Cc-2| 9:06.7| =1 | 2:08.4|[ =36 | 53 |[AHE &2/ttt RN Cc-2| 9:06.7| =1 2:08.4
R 9t (4.9) Rz 9ot (4.9)
=36 | 54 |ElIiT {LFd/BEtR & C-2| 9:06.7| =1 | 2:08.4| =36 | 54 |ET filifd/Ftk i& c-2| 9:06.7| =1 2:08.4
TYH I8NV FRXT (4.9) YA H\UFRXT (4.9)
=36 | 55 [(HIL —ER/EhK 213 Cc-2| 9:.06.7[ =1 | 2:08.4|| =36 | 55 [MHLL f2—BR/$hK #EiE Cc-2| 9:06.7| =1 2:08.4
SUFT TILE (4.9) SUFT TILAE (4.9)
=36 | 56 [RF¥ 2=/FAH K# C-2| 9:06.7| =1 | 2:08.4|[ =36 | 56 |F&F £=/AH K& c-2| 9:06.7| =1 2:08.4
O—4X IS5Y (4.9) O—4X IS5 (4.9)
=36 | 57 [FIL B/ HE B C-2| 9:06.7| =1 | 2:08.4|[ =36 57 |#IL FH/¥H £ Cc-2| 9:06.7| =1 2:08.4
T#4—F TX3—kMki (4.9) TA—F TXa—hkMk1 (4.9)
=36 | 58 [:AI& Fih/BEA EAER C-2| 9:06.7| =1 | 2:08.4([ =36 | 58 |:EI& Fh/BA:A 1EXKER c-2| 9:06.7| =1 2:08.4
rE% EUH (4.9) rE5 =UH (4.9)
=36 | 59 2% X/ KA BE Cc-2| 9:06.7| =1 | 2:08.4|[ =36 | 59 |E% %/ KXF E# Cc-2| 9:06.7| =1 2:08.4
SVUFT 03751 — (4.9) SUF7 0315 — (4.9)
=36 | 61 |BA =5h/RF HPH C-2| 9:06.7| =1 | 2:08.4|[ 51 | 42 [FRE 1&/RBR 7l c-1 9:08.1| 7 2:09.8
34 MR-2 (4.9) J4+—F TXa—k (1.4)
52 | 42 [F&E 1&/1RIR 7% c-1| 9081 7 | 2:09.8|| 52 | 36 [¥1H# Bz/B%E BHE R-3| 9:13.0( 8 2:14.7
J4—RK TRa—hk (1.4) Yy I—F (4.9)
53 | 36 |#3 B2/HE BHR R-3[ 9:13.0[ 8 | 2:14.7|| 53 | 33 |#&IR HE/4 K B8 R-2[ 9:15.7| 6 2:17.4
=YY I—F (4.9) I4—K J4TR5R2 2.7
54 | 33 |BRIR BE/FK A R-2| 9157 6 | 2:17.4|| 54 | 40 |&% BuL/thE EE c-1 9:355( 8 2:37.2
T+—F J4ZRER2 2.7 FP3— 106 (19.8)
55 | 24 |RJI 81/ B & R-3[ 9:23.7[ 9 | 2:25.4|| 55 | 15 |& &&/BK IE— R-1 9:39.1 20 | 2:40.8
ELETP (8.0) /%)L VAB (3.6)
56 | 40 |&% BUE/SRE EE C-1]| 9:355| 8 | 2:37.2| 56 | 34 |H#H H—/IEH 4% R-3[ 9:55.9| 9 2:57.6
FT3— 106 (11.8) =Ry R ) (16.8)
57 | 15 |% FES/BK IE— R-1[ 9:39.1| 20 | 2:40.8|| 57 | 61 |#K =50/ FF HPH c-2| 10:06.7| 14 | 3:08.4
Z73)L VAB (3.6) 3% MR-2 (10.8)
58 | 34 |#% H—/18H 4F* R-3[ 9:55.9( 10 | 2:57.6|| 58 | 24 |RIIl Hi/PH & R-3[ 11:23.7| 10 | 4:254
=E AR S (16.8) % VYR (1:17.0)
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